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Sketch the graph of each function.

1)  f (x) = {(x + 3)2, x < -3

2x + 3, x ³ -3
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2)  g(x) = {x2
 - 3, x < 3

(x - 3)2, x ³ 3
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3)  f (x) = {4 - x2, x < 2

(x - 2)2, x ³ 2
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4)  f (x) = {4 - x2, x < 1

(x - 1)2, x ³ 1
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5)  g(x) = {(x + 2)2, x < -2

(x + 1)2, x ³ -2
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6)  f (x) = {(x + 4)2, x £ -3

2x + 1, x > -3
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7)  g(x) = {(x + 2)2, x < -2

4 - x2, x ³ -2
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8)  g(x) = {x + 2, x < -2

(x + 2)2, x ³ -2
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9)  g(x) = {x2
 - 3, x £ 3

x - 3, x > 3
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10)  g(x) = {-x - 4, x < 0

4 - x2, x ³ 0
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11)  w(x) = {(x + 2)2, x £ -1

4 - x2, x > -1
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12)  f (x) = {-2x, x £ 3

x - 1, x > 3

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8



©z `2u0d1q9g RKYuctwaa `SeovfEtgwOadrUez lLZLzCv.Q k fAilXle ErGiYgzhItDsv nrrelsqeGrdvse\df.e I CMWaPdXeH xwriIt[hX aIUn[fMikndiNtjeH MPGr^eqcVaKlzcbu[lmuesz.

Worksheet by Kuta Software LLC

-3-

13)  g(x) = {(x - 4)2, x £ 4

x - 4, x > 4
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14)  f (x) = {x + 3, x £ -4

(x + 3)2, x > -4
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15)  g(x) = {-2x + 4, x < 3

(x - 4)2, x ³ 3

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

16)  f (x) = {x - 3, x < 0

4 - x2, x ³ 0
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17)  f (x) = {(x + 5)2, x < -4

-2x - 4, x ³ -4
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18)  f (x) = {(x + 4)2, x < -4

(x + 3)2, x ³ -4
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19)  h(x) = {(x + 4)2, x £ -4

-2x - 2, x > -4
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20)  w(x) = {x + 3, x £ 0

2x - 4, x > 0
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Sketch the graph of each function.

1)  f (x) = {(x + 3)2, x < -3

2x + 3, x ³ -3
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2)  g(x) = {x2
 - 3, x < 3

(x - 3)2, x ³ 3
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3)  f (x) = {4 - x2, x < 2

(x - 2)2, x ³ 2
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4)  f (x) = {4 - x2, x < 1

(x - 1)2, x ³ 1
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5)  g(x) = {(x + 2)2, x < -2

(x + 1)2, x ³ -2
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6)  f (x) = {(x + 4)2, x £ -3

2x + 1, x > -3
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7)  g(x) = {(x + 2)2, x < -2

4 - x2, x ³ -2
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8)  g(x) = {x + 2, x < -2

(x + 2)2, x ³ -2

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

9)  g(x) = {x2
 - 3, x £ 3

x - 3, x > 3
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10)  g(x) = {-x - 4, x < 0

4 - x2, x ³ 0
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11)  w(x) = {(x + 2)2, x £ -1

4 - x2, x > -1
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12)  f (x) = {-2x, x £ 3

x - 1, x > 3
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13)  g(x) = {(x - 4)2, x £ 4

x - 4, x > 4
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14)  f (x) = {x + 3, x £ -4

(x + 3)2, x > -4
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15)  g(x) = {-2x + 4, x < 3

(x - 4)2, x ³ 3
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16)  f (x) = {x - 3, x < 0

4 - x2, x ³ 0

x

y

-8 -6 -4 -2 2 4 6 8

-8

-6

-4

-2

2

4

6

8

17)  f (x) = {(x + 5)2, x < -4

-2x - 4, x ³ -4
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18)  f (x) = {(x + 4)2, x < -4

(x + 3)2, x ³ -4
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19)  h(x) = {(x + 4)2, x £ -4

-2x - 2, x > -4
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20)  w(x) = {x + 3, x £ 0

2x - 4, x > 0
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